IR 4 RE

TR yFEF |y = 054066 y =0.0833x" — 1x° + 4.4167x° - 7.5x + 5 y =0.0833x% - 14 + 4.4167x2 - 7.5x + 5

1 0.8 1 5 »
1.3 1.0 /

X
1

2 1

3 2 2.0 20 4 /
4 3 3.0 3.0

—_— My z -

6 8 7.2 11.0
7 13 11.1 25.9 /
8 1 .

21 171 56.9
9 34 26.3 112.8 0 . .
10 55 405 204.7 0 5 A
11 89 62.4 3455
12 144 96.1 550.3 X
13 233 148.0 836.1
14 377 227.9 12217 . g
15 610 350.9 1728.3 4’REEE] 3&
16 987 540.3 2378.8
17 1597 832.0 3198.2

3500

3000

y = 0.5406€04317x /° * 7’{7'_;\7_\\/9: 5;& g”

/ 2500 = ?Eﬁ

/ y 2000  4RBEE

1500

S B, N W b~ U O

1000
X A

*Eé&%ﬂaﬂ 500 A

A
A [ ]
0 -—l—l—l—‘—l—‘—‘—‘—‘—.r g f -
0 2 4 6 8 10 12



3500

3000

2500

2000

1500

1000

500

20

1800
. A
I |
- gjggz 1400 %3
= 153K
ALRBEH A 1200
1000
A, 800
A 600 -
* . 400 s
A
A °« 200
° A
A 4 L - 0 - A f T 1
o o 8 . . 0 5 15
10 15 20
1.4E+10
> [ ]
1.2E+10 eIt FyF 5|
™ =
1E+10 o
ALRBE¥
8E+09 s
6E+09
]
4E+09
a
2E+09 &
[ |
0 .,AAAAAAA .

-2E+09

(1) 10 20 @ 40 50

60




